—

18.

> owoN

. Name this shape.

10.
1.

12.

13.
14.
i15:

16.

17.

-(3+4x10=
159 minutes=  hrs  mins
100x039=__

. Round 173,104 to the nearest

ten thousand.

. 307kg+ 1 = =5kg
. 555 — 474 =

. Through how many degrees does the

minute hand of a clock turn
in 30 minutes?

34,109
46,676
+ 2,159

$x5=
The average of four numbers is 14.
What is the missing number?
12 16 18 7?
How many lines of symmetry
has this shape?
3 - 15 =
320ml + =1l

Write the difference between
275 and 2-50 as a fraction.

Jenna earned €480 in 16 hours and
Alex earned €350 in 14 hours. Who was
paid the higher hourly rate?

Liz ate % of a pizza and Claire ate
4 times that amount. How much did
they eat altogether?

A tree is 12m high.
Another tree is 4% times higher.
What height is the taller tree?

Thursday

.Mx7)+13=

. Name this shape.

. 3% + 7% =
. 109 minutes =

. 7019km =
. 4)672

. Round 199,611 to the
nearest 1,000.

21,406
— 1,060

. 1-6kg +32kg= ___ kg
. (108 + Px 4=

. Through how many degrees does the
minute hand of a clock turn
in 60 minutes?

. 3 . .
. Write 2% as an improper fraction.

. Is this an octahedron
or a tetrahedron?

. Triangles are good for tesselating.
True or false?

. Write the difference
between 6-15 and 6-:00
as a fraction.

A container can hold 1% of a litre of water.
A jug holds 5 times that amount.

16. How many litres does
the jug hold?

17. How much do the jug and
the container hold in total? ml

. What is the difference between the
capacities of the jug and the container?
ml

See page 73 for test.
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